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sfd$ro, qftowr ot rfiq
Bfr-$rd f{aa +ffi i+s{, strsqq GfiTf, mrqlt{H fufr}s, Etrort

qrgrq$ gnT nrq rrBufTrft*gv, ilEfi-d rTucftilS(, wrErE dqg{, f,
qFf (Uerrutnq-go flqyrq-{) (gsoWo-oz) furfio H, 4s

(iiq zoo-+oo) d +q erft Tdft qq rwrfuo f*}d ensetdztttd vw fu$Fr t qq ro rder q frqil-s qFf tg o.0zs51a to infso ar nfr o1 eTfrTF
tg o.io to erq{n q-+fi q{ 1oo Qhr m-eTfr[E Ttoqq o.{rn -n+ tg dsil

1. efdp Ffo-{ur t Rtfrf, frrS qri qrfi rqrM-
flq, ?ftsrq, H[gq, dffi GnR I ' 

':'

z. orqhrcq q#-S-

Hrqrfu6 qrffi yrrr{r -ill5rl

3. vw ergqfi-

qfuttqqT ffif-f, qg errnRr srw *i w foifRa of qrf.t 
r

4. ATITf, dIqT_

V



. {cTtEItrrE q}$qw qr.f (gorarqrE-goen{n6gq FsoWo-oz) ffis +s iiq 2oo-400 d .nq
qFft Teft q{, Trr[ ufu+r7rfrugv, ilf,frm qu'ftrw, cFilrE qtqg{, srtrrlqdtft qo-zosa w
gFsrq sfr{f, ryfrs fuo d rril-F{f, R& errelaterz*d .ru fu s.srn t qq co. utqr qffi qr.f tg o.ozs518 to sfvf*ro at r1fr dt 6ffi fu o.re to erq{n c+lfr w ffid

rfto{q qtqqT

sPdtr{o rfto{q tg qTfuil effinRr or frTrq

3r.q. qtq qn or{ nqqq ffi$Rr (uor)

1 2 3 4

1 qQIrI q{ut dR S'f$rr + qlfq 5o or4 38500.00
2 ttdlq qqur geil*qur 31800.00
3 gdI+ ztv qr$eTur qeffi qq 9600.00
4 qSeI q{q srgteffi Btrq q-E 7200.00
5 qlzfql 4{UI oi-$erq Tfu q{ 7200.00
6 Efl q{UI Grgqerur =rg.i 

qq 7200.00
7 Hk[qT q{q si-g{flur frqqT eE 7200.00
I STTdqI q{UT crgreTur EdT o{ 7200.00
I ;iIqt ilTr ea-gterur trrffir qq 7200.00
10 EflqI qWI eflgqe{ur GTrcqi q-E 7200.00
11 rql{Sqr q{ul ei-S{eiq +qT os 7200.00
12 qrr6qr q{ul cr$e{q EYrqi qE 7200.00

qtr 144700.00
qI 1,44,700.00

Ut -,
yrTr.nq fte-wfr

HlqTfufi qrffir wnr, ii'rtgt



rffrPfd qffitr{r ?Dr qrrF tanerqm !wg- qr.f (furersn_Ioqr€r6$ (Vsogqo_oz) ffis +s *tq2oo-400 d w Erft rrdft sq, ft}a .,Trwfu + f{rfrr tft- s-#"#h or ffi rftTl
qrfrFH rftd'rur tg frfu #a or T: qdy* tq, sqr.r 6l qrq- HrotrTo rrrrTrT, EilTw tfrd f6tqr+ qr$ qMf qft SqF 1oo

serr q{q (on 6furr + oTFJq T{r o.rd)
(q.ft Emtwr f,g

srfro ET so tts / - sfr qH-{ k{s

,..gqfrfuq'.mq-q;

Hrqlfuo qrm ;,qq*L'sil-qfr
a*u .,,

i

I

i

ir

rl

tii

3F.9. o,rdolffi s6,r{ qEII qt r+trRr (s-)--
1 2 3 4 5 6
1 \1q6lul \q Hl+ll.th=l rft to 0.16 48.98 7.84
2 wra ewg sft to 0.16 306.21 48.99
3 f{r E.rd Bg Htqrr (.rSET/qN-s) srd 100.00 0.31 31.0C
4 TqFT gEH (0.60 x o.6o - oso +O qfr 100.00 17.50 1750.00
6 ilrrqrs tg qTflm-

(\ru \rr{.ut.Hl uBII 6i {d rq oq rrtro (0
15x0.10x1.80)

qH 50.00 404.00 20200.00

/-\='\-"-:
\Y/r Y/tl,\t\ \il\ crrl tcq ylcl 5 el-lg q qkl d{ 0.15 84892,00 12733.80

7 ar:*--
Y/tsflq, q,{q qfi 5rfl 0.00 260.00

8 q,te r{t vrt<.t ctgt q(l ch @f{q gffiTf*m qq 
I BWrff Or

ro sfrcrd
100.00 0.00 3500.00

qFr
38531.63

gr tgN6.oo

N



trfiq qrq (Tdft gntqur)
sTfu+, (q so 'ns/- sh qnq fuqs

f'.q. or{ or futr{q E6,r{ qEtI {t r+wRr (so)
1 2 3 4 5 6
1 rgr q-a| slil rrqqr 100.00 1.40 140.00

2 .ry9r +t cr,tc-ilrrcF defi s{ED qI frq q rlqq d
$@dsrqffi (ftovro,w;

sfr qhr 100.00 0.13 13.0C

3 .ts.gt +t {ilq\ (gTq ?FI rqFl qR dq 100.00 9.92 992.00
4 friorT@(3sfr{r-dffi qrd glrr 100.00 70.00 7000.00
5 qt\silY q)lq

q rlr\Gilg Eg iJltt0HIoHTo gRIi fi qfgfa-
(o:s:r d StE dfttc)

trfr 50.00 196,00 9800.00

q sH+ 6T err+q gdFT lrkl 50.00 3.29 164,50rt \il\ cpt t(9qtg cl2l Olq s.{.q}. 1000.00 0.85 850.00
6 .{rcl qrr gqlrn t3 ytcntct .flldr*m)11o:fl0 to_zo) sH qtr 100.00 17.50 1750.0c
5 fltrl ET eir+q ganq- qfd qlE 100.00 5.94 594.00
6 qlERIqq q elFrdt Tf,{rS q g-.{ffi qfil q)ET 100.00 4.90 490.0c
7 .t\tg 

3_stE z qlt qH qq 200.00 1.12 224.00
I rYlqtv Htrt.q fl,1 Fg 9 glt (9x62s) qH frq 900.00 2.8s 2601.0C
I \rvrqtr(I) \lqrq?, .Ftd{Rf.F, E'f r{Ifq Xeq gt-BA d0q0 100.00 1.00 100.0c

10 E\cil Eg qrq\ (5 tqqrc/Fo) 274/5 sfil Bo 20.00 175.00 3s00.00
11 r1.v. c<1<1/ ?6il\tLtut 6il9/lclqFnq E,fd{/-fi-t d

TFIT qcqft 
t

w 5gn 0.00 0.00 750.00

12 ?q'r\lyvt cr)te c{) Htq qEI qll 6 oT{ur SIkTf{ffi
qql

sc$ff 6I
ro yfucrd

100.00 0.00 2880.0c

Ehr 3{848.50

NII Ataoo.oo
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ir,IIIlfrflq ,fttsgfi
Hmfrrfr qrRafr y+nrr, d-ig{
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Efu q{q (er5twr seffi qS)

sTfu q{ Eo 'ns/- ffi qmq kffi

+Tfuo qt so tts / - sfr *rmq frirs

(ergtrrur

ETkfr sfu fu{s

*,ffiu'ftffi*,*
qmlfu-tr qTM.vqrrt, d-qgi

or{ or fq${ Eo.r{ II|TT ({ qwrRr (so)
30.9.

1 2 3 4 5 6

1 ffi-qfi Rffi furnfu ?-n*/-6{ sRI ersd
qTR + 1e vB-a 12 ql-{ (12x1oo)

q'fr dtr 1200.00 2.89 3468.00

2 ffidfrqr€ Wri 3 qrq sfr dtT 300.00 1.12 336.0C

3 drslrg Tl{Erf, g6 5{d 0.00 0.00 200.00

qrfllqFrfi Bd-{o, oTciRTo 6-r s-fir Til sr8-d

1qn

0.00 0.00 100.00
4 \Y' 3\

5 gten fu qut $s/ s=23 E sfr fo 25.00 175.00 4375.00

6 w erq7frlmfu i-dut/&q oT q-qqo gfl-rq

sRa t

T6 TFf, 0.00 0.00 270.0c

o7 ffid srq q-.& qrf d ffi'R'r efilRm qq 
t sr<IfiI 6I

ro cfr?rf,
100.00 0.00 870.0c

dq 9619.00

qr 9600.00

wq (erSarr

or{ o.r lil*Tr s6,r$ IITAT (t r+trRr fso)tr'.g.

1 2 3 4 5 6

1 ffi-nRffi6qn qH qq 600.00 2.89 1734.00

2 ffiWr{ren qR'q)q 100.00 1.12 112.00

3 gielT E-qtqi sfr tso 26.00 175.00 4550.0C

4 3ral qq Y6 5Td 0.00 0.00 250.0c

E d d sqq {& <{t d onq efdtt-m qq 
I

SWFM ?DT 100.00 0.00 620.0c

*q 7266.00

ZIT 7200.00

frq{r q{ul
rll=lrt

tr'.H. or{ or f{flq 5-rs TII?TT (t q+trRr Fo)

1 2 3 4 5 6

1
:Slr. ---A. ^' . t ^ 

-
gIErI 6'I ITFII{ 6 qn qft frer 600.00 2.89 1734.00

2 ffiENgsr{rqN sfr frtT 100.00 1.12 t2.04

3 Eun fu oar sfr to 26.00 175.00 4s50.0c

4 3{-q qq Vm' Ff, 0.00 0.00 250.0c

5

-6rd 
d qrq cfr <qi d onq etRRm qq 

t
grmjftT o-l 100.00 0.00 620.0c

*q 7266.00

{r 7200.00
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5,6-{i qqq (ergqwr rg.f q{)
qkr q{ so tts/- ffi fl-aq fu{fl

3F.9. or{ or fd-f,{ur {o.r{ qEII (q nflrRr (so)

1 2 3 4 5 6

1 fute1 Rffi6En sft ftl 600.00 2.89 '1734.00

2 q)uf at Fm$ gEr{ t ert qft frq 100.00 1.12 112.0C

3 gtur fu amr qR Bo 26.00 175.00 4550.0C

4 3f,dl E{{I w wn' 0.00 0.00 250.0c

5 ffiA s-Tq s.fr wf d onq etfrRm qq 
I

gqrrfrI @-l 100.00 0.00 620.00

fir 7266.00

qT 7200.00

HKT(IT q{Ut wm(s-grwr
qfuo qq ioo 'ns/- sfr qmq fffs

fr. ard oT frff{ur F6r{ TII?TT ({ r+nRr (so)

1 2 3 4 5 6

1 qhTf at Rffi 6 Gnq qft qlT 600.00 2.89 1734.00

2 mri a1 N gErt t eri qFr qq 100.00 1.12 112.0C

3 wmr tE qrq-t sR to 26.00 175.00 4550.0C

4 olq qq \q. 5en 0.00 0.00 250.0c

5 o-rd A q'rq qfr ilt d @Nq eifdfim qq 
t swl-frI @-t 100.00 0.00 620.0c

fir 7266.00

qr 7200.00

slrdql wur E6T(ergtarr
qt so 175 / - ItkT rll"n

ffi.H. or{ or fil{isl {6.r{ III-TT (( fr+trRr (so)

1 2 3 4 5 6

1 flqi o1 ftffi 6 qn sH qtr 600.00 2.89 1734.00

2 q)qI frt N gEr{ r eR eft frET 100.00 1.12 112.00

3 $eTr t-g qmi sfr to 26.00 175.00 4550.0C

4 slat qq g6 5qf, 0.00 0.00 250.00

E oTd d srq q.fr q$ A oxq erfdl{-m qq 
t sTd-ff o-r 100.00 0.00 620.00

Ef.r 7266.00

qT 7200.00

q{UT qEr.[I

ETfuo, vfr fttrfl

(Grg{wr
sTfuo qr roo 'ns / - sfr qmq fu{g

F.g. ard o't fflq E6,r$ Iil TT TT r+trRI Cso)

1 2 3 4 5 6

1 qlTi at RiqT-i 6 aln sR qq 600.00 2.89 1734.0C

2 q)trf o1 N tst-{ r qx q"R Srr 100.00 1.12 112.00

3 Ew fu ozr ffido 26.00 175.00 4550.00

4 3il-;{l q{l 96 5rfr 0.00 0.00 250.00

5 q'rd d sq+ c.fr t[t} A cD'RUi uHRm ry t
*tT.6, 100.00 0.00 620.00

\\ fir 7266.00

\r' qT 7200.00
ted.".!..
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/{_
Eerqi qruT (gr5taur errdqt q{)

qfro t

(ergvwr

. TWI

ffi qrqq ftlqs

ETfuo, vft *rr+q krs

ETfro q{ so tts/- ffi fl-qq fu{s

-"$ffiftc a
@dreql'r, fu"

E( s0 175 / - gTfr qr;rr[
3F.s. irrq iF'T lrlT{uT Eo.r{ TII-TT tlit flflrfEr (so)

1 2 3 4 5 6

1 freif dT 1+iqT-{ 6 rn-r sfr dtt 600.00 2.89 1734.00

2 ql$l 6l lirgr$ XSi-$ r eri sfr frEr 100.00 1.12 112.00

3 gtar B-g arat ffiBo 26.00 175.00 4550.00

4 3[ilI Ezrrl trF 5Ti{ 0.00 0.00 250.0c

5 ?rrq S' vrq q.d} (S d orrq eifilftm qq 
I

BiqTIffi 6I 100.00 0.00 620.00

Ef{r 7266.00

TIT 7200.00

T{IIGIT qTUT

)_fr. orq o.r filflq gqilE III-IT E{ r+nRr (uo)
1 2 3 4 5 6

1 fiEfi E6i l+rqr$ 6 qn rH qET 600.00 2.89 1734.00

2 qIEII dT lffi TEr$ I ErT sR freT 100.00 1.12 112.00

3 E{eilr Eg qrf,r sfr Bo 26.00 175.00 4550.00

4 3f,al ET{I 94, IFd 0.00 0.00 250.0c

5 6rq A' srq qdi fi A chlwr erFRm qq 
t swrffi 6-r 100.00 0.00 620.00

*q 7266.00
qt 7200.00

qI-tE[T q{UT EqTqT

iD.q. ar{ o'r fiffiur go,r$ TII-II sr q+qrRr fso)
1 2 3 4 5 6

1 frErl dT l+ffi 6 qn sfr qeT 600.00 2.89 1n4.04
2 qlEfi dT 1qq1-g {Er$ r eR qfr frET 100.00 1.12 112.00

3 gteil fu qr+r sfr to 26.00 175.00 4550.00

4 EIaI qq v6 IFd 0.00 0.00 250.00

5 6rq d srq q.fr qd d $Trq eTfrRffi qq 
t

gwrffi o'r 100.00 0.00 620.00

zilrr 7266.00

gI 7200.00

N\1


